ROOMS TO GO® ASSEMBLY INSTRUCTIONS

Manufactured for Rooms To Go

HMEL 5773NRWH COUNTER HEIGHT TABLE SKU#42157734

Caution: Please read instructions thoroughly before unpacking assembly parts.
1. We recommend that you assemble this product with the assistance of another person. This will make assembly easier and

help to eliminate damage to the product or injury to persons during assembly.
2. Be sure to check all packing materials carefully for small parts that may have come loose inside the carton during shipment.
3. Please put all parts on a non-abrasive surface and follow the assembly steps to assemble your newly purchased product

correctly and efficiently.

Step | Code Parts List Qty | |Step | Code HARDWARE LIST Qty
5 A TABLE TOP @ IpC BOLT G1/4" x 1-1/4"
3 1 LOCK WASHER @1/4" a@t® 8PCS
1,3 B BOX BACK PANEL €> 1PC
FLAT WASHER @1/4" x 1/16"
4 C SHELF % 3PCS BOLT @5/16" x 2-3/8"
2 D LEG D e 1PC 2,5 2 LOCK WASHER ©5/16" (C(a(0 8PCS
2 E LEGE I 1PC FLAT WASHER ©5/16" x 1/16"
5 F LEGF — 1PC 4 3 SHELF PIN 12PCS
5 G LEG G % 1PC 4 4 WOOD SCREW M4*1/2" e 12PCS
5 H LONG STRETCHER & 7| IPC 5 5 WOOD SCREW M4*1-1/2" R 4PCS
5 I SHORT STRETCHER % 1PC 23,5 6 ALLEN KEY M4 am 1PC
* SCREWDRIVER (NOT PROVIDED). C3—
Step 1
Step 2

Hardware Pack Location(s):

HMEL 5773NRWH COUNTER HEIGHT TABLE

Page 1 of 2




ROOMSTO GO ASSEMBLY INSTRUCTIONS

Manufactured for Rooms To Go HMEL 5773NRWH COUNTER HEIGHT TABLE SKU#42157734

Step 5 Step 6

U

COMPLETED

Hardware Pack Location(s): HMEL 5773NRWH COUNTER HEIGHT TABLE

Page 2 of 2






